By the TMS page                                  1966 T120   DU 27316
TOOLS

1 60.0571/2 TOP DEAD CENTRE TOOL (SCREWS INTO CRANKCASE BEHIND CYL BARREL) bsf THREAD upto 1968            







8.50
2 60.1861 CLUTCH HUB EXTRACTOR TOOL TRI/BSA 2 CYL 3 & 4 SPRING CLUTCHES    Correct year?                                      







 7.50
3 61.6019 CRANKSHAFT PINION REMOVAL TOOL (3 JAW TYPE) Which one for the 1966?  I do not think the cases have ever been apart  3 jaw or two bolt?                   
 30.00 
4 60.2213 CAMSHAFT/CRANK PINION EXTRACTOR (FOR 1.25" THREADED GEARS)                   1966?                                         



22.50

5 61-3768 CLUTCH LOCKING PLATE





  7.50

6 61.6008 TAPPET GUIDE BLOCK REMOVAL/FITTING TOOL

TWINS                                                                                                       
15.00
7 61.6017 FORK SEAL HOLDER REMOVAL TOOL (TRIUMPH EXTERNAL SPRING FORKS) 1964on                                                





27.50
8 61.6062 FRONT WHEEL SPINDLE NUT BOX SPANNER                                                                                                                           






 6.75
9 61.7012 PRIMARY CHAIN ADJUSTER TOOL




4.40

10 FTNS.1 FORK TOP NUT  SPANNER





6.00

11 LOCTITE/L LOCTITE LOCK & SEAL 3ml TUBE (FOR STUDS & NUTS)                                                                                                   

4.50    QUANTITY 1

12 LOCTITE/S LOCTITE STUD & BEARING 3ml TUBE (STRONGER THAN LOCK/SEAL)                                                                       






4.50   QUANTITY 1

13 P.224 GEARBOX SPROCKET NUT SPANNER 4 SPEED


10.00  

14 P.226 ENGINE SPROCKET EXTRACTOR (2 BOLT HOLE TYPE)                                                                                                   
           17.00

15 SOLVOL AUTOSOL POLISH (STILL THE BEST FOR ALLOY)                                                                                                                 5.25  QUANTITY 1
NEEDED

70-6328  FLYWHEEL BOLTS






3  ???  PRICE
57-1378  FIBRE WASHER FOR PRIMARY




5  ???
NE 507   FIBRE WASHER PRIMARY ADJ?




5  ???

OIL PRESSURE SWITCH IS IT 60-2133 FOR TIMIG C.?


1  ???

70-3430 BOLT FOR EXH CLIP
KILL BUTTON
TALK  ELECTRICAL
TAB WASHER SET
GASKET SET

OIL SEAL SET

AMAL

244.104
JUNCTION BOX 2:1 FOR THROTTLE/AIR CABLES

1
£7.95
ONE FOR CARB OTHER FOR AIR?  PLASTIC UNLESS ALREADY ON THOSE BELOW
622.073
FLOAT BOWL GASKET CONCENTRIC 600 & 900 SERIES
1
£0.80

622.208
GASKET SET TO SUIT 600/900 CONCENTRIC


1
£3.00
70.2968/30 CARBURETTER FLANGE HEAT INSULATOR 30mm BORE
2
£1.50 EA

AC.900/C
AIR FILTER ASSEMBLY ROUND TYPE CENTRAL FIT(900 CARB)
£22.50
 EA  2 NEEDED

SCREW ON
ASK ME???????????????

L.930/PREM CONCENTRIC PREMIER CARB 30mm LEFT HAND (STAY UP FLOAT & HARD SLIDE)












£110.00
R.930/PREM CONCENTRIC PREMIER CARB 30mm RIGHT HAND (STAY UP FLOAT & HARD SLIDE)











£110.00
NEED AIR SLIDE SET UP  ASK
WITH DOHERTY COMBO BALL END RIGHT HAND BREAK AND AIR LEVER?

AND OTHER SIDE CLUTCH LEVER ASSY18/951  fr brake lever and  air lever together
1 may be 18/978
60.0500
THROTTLE CABLE T120 1963-66 TWISTGRIP TO JUNTION
2
£8.00 EA????
OR BETTER IS/          AND WHAT IS FEATHERLITE?   UNLESS NEXT ITEM

60.0732
THROTTLE CABLE ASSY 2:1 900 CONCENTRIC CARBS
1
£29.50  AND

60.1817
AIR CABLE ASSEMBLY 2:1 INCLUDING JUNCTION BOX
1
£28.50

60.0565
CLUTCH CABLE 1965-1967 47" OUTER



1
£12.50
ELECTRICAL

DISCUSS FOR SQ BLOCK RECT AND ZENOR ETC  LIGHT UNIT  516812,576798?
34289
LIGHT SWITCH ROTARY TYPE 88SA (10 PINS ON REAR)
1
£27.00

36047
AMMETER 1 5/8" Dia GENUINE LUCAS 12-0-12


1
£19.90

NEED TO DISCUSS THIS ON PHONE

45164
IGNITION COIL 12 VOLT MA12 48mm DIAMETER

2
£22.00
 EA ?

49072/SS
RECTIFIER SOLID STATE (6 or 12volt)



1
£7.40
49345
ZENOR DIODE + EARTH PATTERN



1
£0.00 ????
554710   PILOT BULB HOLDER





1
??????

54330576
CHROME SWITCH BEZEL FOR 88SA SWITCHES

1
£4.00
54335169
LOCK & KEY BARRELL FOR IGNITION SWITCH 1967on
11
£7.25  FIT S45??

82.6981
LOCK AND KEY TO SUIT 1967 ONWARDS IGNITION SWITCHES
£7.25
??? WHICH?
WARNING LIGHTS TO HARNESS?
54930007
SWITCH SOCKET FOR 88SA ROTARY LIGHT SWITCH
1
£9.35

554602
HEADLAMP BULB HOLDER PRE FOCUS TYPE


1
£3.50

97.2262
IGNITION SWITCH RUBBER COVER 1968on S45 SWITCH
1
£2.50
99.0683
HEADLAMP TO RIM FIXING "W" CLIPS (Pkt 5)


1
£1.00
need to talk about this

99.9968/E
HEADLAMP SHELL C/W RIM 7" 1960-1965 (AMMETER HOLE ONLY)
£30.00
 I
vs 59579 and warning lights
C.135
35amp GLASS FUSE these are english amps?


3
£0.40
Spark plugs?

ENGINE

O.S.04
OIL SEAL SET 650 TWINS 1963-67

1


£14.50
TW.02
TAB WASHER SET 650 TWIN


1


£6.00

70.0402
DRAIN PLUG FIBRE WASHER 3/8" i.d.

2


£0.30
70.0470
TAPPET ADJUSTER NUT cei THREAD

4


£0.75 EA

70.1435
CHROME DOMED NUT 3/8" 26tpi (CYCLE THREAD) ROCKER SPINDLE etc









2


£2.00 EA

70.1591
CRANKSHAFT MAIN BALL BEARING (1.1/8" dia)1


£27.50

70.2256
CAMSHAFT ROTARY BREATHER VALVE SPRING1


£2.50
70.2412
CYLINDER BASE NUT 3/8" 26tpi cei SMALL HEX HEAD 
(ALSO FITS FORK PINCH BOLT)


3


£0.75 EA
70.2490
CONNECTING ROD BIG END BOLT 26 TPI (CYCLE THREAD

£5.90 EA 

            UNLESS NEWER IS BETTER AND FITS

4
70.2879
CRANKSHAFT MAIN ROLLER BEARING  
1 CORRECT?
£38.75


70.2922
CONNECTING ROD BOLT NUT 26 TPI 

4


£1.50 EA

70.2980
ROCKER BOX + SUMP STUD 1/4" x 1/4"

4


£1.50 EA
70.3253
ROCKER SPINDLE "O" RING


3


£0.50 EA

70.3302
WASHER 1/4" DIA (THIN) UNDER ROCKER BX 4


£0.35 EA

70.3586/G
BIG END SHELL'S STD (GLACIER) (ENGINE SET FOR 2 RODS)
£28.50
70.3732
OIL PUMP NUT UPTO 1968 cei


2


£0.75 EA

70.3751
ROCKER BOX CAP FIBRE WASHER

6


£0.50 EA
70.3876
CRANKSHAFT OIL SEAL DRIVE SIDE
£2.50


IN SET???????
70.3887
OIL PUMP NUT SERRATED WASHER

4


£0.50 EA

70.3975
CRANKSHAFT ROTOR TAB WASHER
£1.50
 
IN SET  UPDATED?????
70.4016B
TIMING COVER PATENT PLATE BRASS

1

£5.50       BRASS    

                      HAMMER DRIVE SCREWS????     60-4255 OR D208-5 BRASS?
70.4144
ALTERNATOR WIRE SEALING GROMMET
1


£1.25
70.4547
CYLINDER HEAD GASKET 9 STUD 650cc SOLID COPPER
£8.50 UNLESS IN SET????????????
70.4568
OIL SEAL FOR TIMING COVER
£2.25



IN SET ??????????
70.4609
ROCKER BOX CAP SPRING CLIP 650cc
4


£1.10 EA

70.4610
TAPPET INSPECTION CAP (UNIT ENGINES)4


£4.50 EA

70.4747
POINTS COVER PILLAR BOLT

2


£1.60 EA

70-4792?
BALANCE TUBE????????    HERRINGBONE TO SIZE

70.5315
CRANKCASE FILTER COPPER WASHER
4


£0.75 EA

70.6309
CYLINDER BASE GASKET 650/750 TWIN
£2.00


IN SET???
70.7354
82-4715
CEI POINTS COVER SCREW
2


£0.80 EA  ?

70.8737
CONTACT BREAKER COVER CHROME
1


£5.00
70.9336
CRANKCASE SCAVENGE FILTER

1


£15.30
70.9348
ROCKER BOX BASE GASKET (WIRED) 1963 TO 1970
2
£4.00 EA IN SET??????????
71.3573
CARBURETTER TO MANIFOLD GASKET 30mm
2

£1.50 EA

USE CUPS AND R WITH IT??????

71.0288/S
CAMSHAFT BUSH SET (4 BUSHIES)

1 SET


£24.00
71.1461
OIL PUMP GASKET
OR 3910?

2


£0.75

71.1462
POINT'S COVER GASKET


2


£0.75
71.2930
OIL PRESSURE SWITCH RUBBER COVER
1


£2.25
71.7263
TIMING COVER GASKET
£2.50




IN SET?????
97.0430
FIBRE WASHER 2BA (POINTS COVER & FORK DRAIN)
6
£0.30 EA
PO.172A
NUT 3/8" X 26tpi CEI THREAD




4
£0.50 EA
70-2930
RUBBER COVER FOR OIL PRESSURE SWITCH


£2.50
DO YOU HAVE OIL PRESSURE SWITCH????????????
EXHAUST PIPES          ????????????

FRAME
14.0301
NUT 1/4" UNF





8

£0.50
14.0302
NUT 5/16" UNF





3

£0.50
57.2331
CENTRE STAND RUBBER




2

£1.00

60.0374
SEAT CHECK WIRE UPTO 1970



1

£3.75
82.4222
SEAT HINGE UPTO 1966




2

£6.75  ??????
82.4445
STEERING LOCK RUBBER COVER PRE 1966
`
1

£3.00
82.4484
CENTRE STAND BOLT TAB WASHER


1

£0.75

82.5343    DRAIN PLUG FOR OIL TANK (FINE THREAD)

1

£2.00
82.6039    GROMMET OIL TANK BOTTO& BATTERY CARRIER 3/4" DIA        £1.50 NEED 2
82.6673    GROMMET SIDE PANEL & BATTERY CARRIER 9/16"Dia   
2
£1.00
82.7155    STEERING STOP (APPROX 1965on)


2

£2.60


WOULD YOU PAINT THIS??

82.8091    BATTERY CARRIER RUBBER MAT 12v MODELS 
2

£3.50
82.9353    BATTERY FIXING RUBBER STRAP


1

£2.25
82.9918    ALUMINIUM CABLE TIE 8" LONG



5

£0.80

CN.14       1/4" 26tpi NUT (CYCLE THREAD)



4

£0.50
DS.57       MUDGUARD BOLT (DOMED HEAD) 1/4" cei THREAD
4

£1.00
NF.704    RIDERS FOOTREST RUBBER (ROUND) WITH TRIUMPH SCRIPT LOGO  £5.25   2
SW.14      SPRING STEEL WASHER 1/4"



8

£0.15
FRONT  FORKS

82.4047
CORK WASHER OIL TANK CAP & FORK SPRING ABUTMENT
£1.00    3

97.0941
BOTTOM YOKE CHROME PINCH BOLT 1955 on (3/8" cei THREAD)
£4.90    2

97.1887
HEADLAMP BRACKET RIGHT HAND 1964 - 1967
1

£25.00
   CHECK??????????????
97.1888
HEADLAMP BRACKET LEFT HAND 1964 - 1967
1

£25.00


97.3893
FORK DRAIN SCREW WASHER



2

£0.30
97.3894
FORK DRAIN SCREW




2

£0.80  WHICH SCREW AND WASHER????????????
FRONT WHEEL  (69 front BRAKE)
14-0302/001
LOCKNUT


2

37.0653
BEARING



2




£5.25
W1197  weight ½ oz



2

W1198  weight  1 oz



2

GEARBOX

57.1257
GEARBOX DRAIN PLUG FIBRE WASHER
2


£0.40
57.1644
CLUTCH CABLE THREADED ABUTMENT 1962-67 (bsf THREAD)
£3.95  1

57.1646
CLUTCH CABLE RUBBER COVER

1


£1.50
57.1956
KICKSTART AXLE OIL SEAL


1


£2.00
57.2116
GEARBOX SPROCKET NUT TAB WASHER 4 SPEED
1

£1.50  UNLESS IN SET

57.2330/A
RUBBER WITH TRIUMPH LOGO


2


£1.75
57.4356
KICKSTART COTTER PIN c/w NUT

1


£1.70
SAME AS T 1222????????
70.3309
"O" RING GEARCHANGE SHAFT


1


£0.50 UNLESS IN KIT?????????
97.1531
DOMED NUT CHROME 5/16" X 26tpi & PRIM
4


£2.00
HANDLEBARS AND CONTROLS
97.4112
HANDLEBAR CABLE CLIP (STAINLESS STEEL)
3

@£1.30EA
INNER TUBES RIM TAPE

RIM.TAPE18
WHEEL RIM TAPE FOR 18" WHEELS
1


£1.10


RIM.TAPE19
WHEEL RIM TAPE FOR 19" WHEELS
1


£1.10
LUBES  

QUESTIONS ??????????????????
CAS.R40/1
CASTROL CLASSIC OIL R40 1ltr

£10.00


NO

CAS.XL
CASTROL CLASSIC OIL XL 20/50 5ltr

£27.50


NO
MORRIS CLASSIC OIL
NEED TO KNOW ABOUT THESE
OIL AND PETROL PIPE
BP.14
PETROL PIPE 1/4" dia BLACK NEOPRENE PER FOOT

£1.00
OP.14
OIL PIPE 1/4" dia BLACK REINFORCED PER FOOT   2.5 FT
£1.50
OP.316
OIL PIPE 3/16" dia BLACK REINFORCED PER FOOT   4 FT
£1.50
3/8 5/8
AVAILABLE?
PETROL TANK AND OIL TANK FITTINGS

70.7351
SEALING WASHER PETROL TAP & TACHO DRIVE
3
£2.00

71.3754
OIL JUNCTION BLOCK GASKET



1
£0.75
82.1713
OIL TANK FILTER FIBRE WASHER



1
£0.50
E3216 

oil fill cap              ASK?????



F4047  

washer for

82.4129
      TANK BADGE SCREW (CHROME 2BA)


4
£0.80
82.5343
      DRAIN PLUG FOR OIL TANK (FINE THREAD)

1
£2.00
82.5401/2
      KNEE GRIPS (PAIR) 1963-1966 THIN STICK ON TYPE
1
£7.90
82.6673
      GROMMET SIDE PANEL & BATTERY CARRIER 9/16"Dia
1
£1.00
82.6887/8
      PETROL TANK BADGES TRIUMPH (PAIR) 1966-1968
1
£45.10
83.3875
      PETROL TANK CAP CHROME (PUSH & TURN) UK MADE1
£12.50

HAVE THESE??????

F 5398 
      styling strip     ?






1

F4019 
      serrated washer for strip





1

H 919 
      nut








1

PRIMARY DRIVE

57.1046
      CLUTCH NUT TAB WASHER




1
£1.50IN KIT?
70.0402
      DRAIN PLUG FIBRE WASHER 3/8" i.d.


3
£0.30
70.3821
      COUNTERSUNK SCREW FOR COVER PLATE

2
£0.50
71.1345
      ALTERNATOR WIRE OUTER GROMMET


1
£1.25
71.7009
      PRIMARY CHAINCASE COVER GASKET 1963on

1
£5.00 

     ????????????????? UNLESS IN SET
E3832 door washer  UNLESS IN SET




E4578  oil seal
     UNLESS IN SET

REAR WHEEL
57.1070

BEARING  SAME AS 39-0653?



2
£5.50
82.1747

REAR WHEEL OUTER SPINDLE NUT NON Q/D

3
£4.00

SUBHARNESSES

MC.952
POINTS WIRE TWIN CYLINDER MACHINES


1
£3.60


MC.993
DIP & HORN WIRE BLACK 30" LONG (4 WIRES)

1
£1.85  ???
MC.927
DIP & HORN 4 WIRE GREY MOULDED (US MODELS) UPTO 1970
£4.35
???
MC.992
DIP & HORN WIRE BLACK 24" LONG (4 WIRES)

1
£1.85  ???
DO I NEED THIS 30 IN BLACK WIRE RATHER THAN THE GRAY????????

SWINGING ARM

82.5944
SWINGING ARM BOLT TAB WASHER      IN TAB SET?
1
£1.00
82.6042
SWINGING ARM BUSH TR6/T120/T150/T160 (ALSO 1969-70 A65)
£3.20   2

CAN I GET IT FOR 1966
82.8090
"O" RING







2
£1.00
I HAVE THE NORTON OIL FILTER ON THE BIKE (DOWNTUBE OVER TRANS) AND NEED THE GREASE NIPPLE AT A 90 DEGREE ANGLE.  SINCE I HAVE NOT GOTTEN THAT FAR YET I DO NOT KNOW IF CEI IN THIS YEAR PART NUMBER I THINK IS AS NW100. SO DO YOU HAVE AN ANGLE AS THIS??

99 3534 angle grease nipple  s/a will it fit thread on 66?   1

TRANSFERS

60.1816
"DRAIN & REFILL" OIL TANK TOP TRANSFER


1
£2.50
A.57
DECAL "MINIMUM OIL LEVEL" GOLD



1
£1.50
WIRING HARNESS

HT.08
HT LEAD 8" LONG COPPER CORE WITH CAP


2
£5.05

MC.23PB
HARNESS BRAIDED T90/T100/T120/TR6 1966


1
£45.30  ????

                                TALK ABOUT THIS

MC.952
POINTS WIRE TWIN CYLINDER MACHINES


1
£3.60
MC.996
STOP & TAIL WIRE 30" LONG (2 WIRES)


1
£1.70                      

          LENGTH OR IN HARNESS?
Part A various   prices
S25-2  plain w



6  2 are for s/a p45


E402  fibre w ? where


2






.30

S25-43  plain washer


1

S26-2  Spring Washer


7

S26-1 spring washer


2

GS299  serrated washer


8 
GS254
 fibre w


2

S26-3  spring w



4

S25-6 washer



2

S1-42 nut
REAR WHEEL

1

S26-6 washer



1

S25-43 washer for


1

PT104B washer for drain plug – copper better
2

E 3446  washer for jct block to cc
1

F1880 copper w



8

97-0430 washer also fork drain  

S879 nut

